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VTHiior «» thM tho .lirtanrr l)otv "m-h the t'flfP' "f uiiy diwt hrap nn«l

the noanxt (liviMi)n of tl > «taii.' .il yani coul.l In" accuratoly <l«'t.M-

minrd. The meuii of 24 ,.»)«•• Mwm on the vah»e (.f - in air Rave

7'17.")7 rnw., the nrratent tlivontence from thiw numlx-r tteing the

vah»en 7' 17SS and 7- 1723 emn.

The mean of three readinRH ..f «he length of the rod jsuve 7.)-OIS4

cniH. The xpecifie gravity of the rod wan detfrniined l>y fnidinj; itx

volume and weight, corrections Jx'ing carefully made for tlif very small

holeH mailc in the ro<l in attaching the ,\m- on the end inserted in the

du»t-tul)e. The average of 15 readings on the diameter of the nxl

gave 1 .207.> cms. The corrected vohmie of the rod nas »».(H» li) ces.
;
the

weight of the solid lod was SOu-li) gra .. which Wrings 'he .Irnsity

e<|ual to 8'')()3.

If V, denotes the velocity of sound in brass, V,. that

wave-length in bra«s, ^, the wave-length in ai^

V. = V, -
;i, 7.1-0 »S4

This gives from ihe al)ovc results V, = V,X
7-1757.

ir, ^,, the

The lesults given for the value of V, for air in tul)es are as follows:—

Kavser (1H77) 332-5 metres per sec. at O^C.

Wiillne.- (1878) 331-1) " « - «

Miiller (1902) 331-9 « « " «

One is doubtless justified in taking as the most probable value of

V„ .331-9 metres per second. We have still to <rrect for the tempera-

ture as the al)ove result refers to aii at 0° C. and the eejuation

connecting the velocity at 0° C. and t° C. is, for small values of t,

V ^ \ (1 + J at), where "a"' is the coefficient of expansion of

air. Therefore the value of V„ the velocity of sound in air at 15° C,

the temperature at which the above experiments were carried out, is

34105 cms. per second.

Introducing this value in the equation for V„ we get as the value for

the velocity in the brass rod at 15^ (•.—358,080 cms.per second.

From the equation q' = V^.d, we obt. i q' = 10-902 X 10"

dynes per square centimetre.


